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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transferred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- We have a ---------- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence,
1) unintelligible 2) insensitive 3) unforeseeable 4) incontrovertible

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course,.
1) legality 2) verdict 3) charge 4) fate

9.  The trial collapsed when it became clear that the main witness for the prosecution was
not ---===---- 5
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that

members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) --—-----— no tailpipe
emissions. Similar to electricity, hydrogen is an energy carrier that can be produced from
various feedstocks. These feedstocks and production methods should be considered when

(12) ===-==-—-- :
Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell Vehicles: Well-
to-Wheels Energy and Emission Impacts, analyzed greenhouse gas (GHG) (13) ---------- 10 of
the most common hydrogen production and distribution pathways. ANL found that gaseous
hydrogen produces (14) ---------- GHGs than liquid hydrogen in most cases. ANL also
investigated hydrogen’s effects on petroleum use and found that using hydrogen as a fuel
(15) -------—-- petroleum use by nearly %100 regardless of fuel production pathway.
11- 1) produce 2) that produces 3) to produce 4) producing
12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions

3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated
13- 1) emissions for 2) it is emitted as 3) is emitted for 4) to be emitted
14- 1) less of 2) as little 3) fewer 4) fewer of
15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Adaptation physiology or acclimatization is defined as an individual organism’s
biological response to environmental stress. Adaptation can be broadly classified into
genetic (generational or long-term) and non-genetic (phenotypic or short-term)
responses to a stressor. Under chronic stress experienced over several generations, the
animal’s acclimatization response becomes genetically fixed, making the animal
adapted to its environment. The physiological and behavioral processes adopted by
farm animals in response to environmental changes are not only crucial for their
survival, but frequently also affect the profitability and productivity of livestock
systems. “Farm animals” is a term used to describe a group of animals housed together
in barns or animal husbandry. They are typically raised because of commercial
purposes - to produce dairy, leather, meat, eggs, and wool. Livestock must face the
multipronged challenge of physical, chemical, nutritional, and thermal stress. Stressors
or the challenges are several and may or may not have a direct influence on the animal
performance. Factors that act as stressors and thereby influence livestock productivity
include age, breed, geographical location, water availability, nutrient availability,
photoperiod, environmental conditions, interactions with humans, and management
practices. Stressors trigger physiological mechanisms that allow animals to maintain
physical equilibrium and homeostasis. Farm animals respond to environmental
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18-

19-

20-

stressors by altering physiological parameters like respiration rate, drooling, panting,
sweating, heart rate variability, and decreased feed intake. Quantitation of stressors in
farm animals often involves invasive techniques that require animal restraint or close
contact between animals and humans, which can increase the animals’ stress levels.
Therefore, there is a need for quantitation methods that can factor out the effect of
such extra stressors.

It can be inferred from the passage that ---------- .

1) Adaptation physiology or acclimatization is generally classified into long-term,
medium-term, and short-term

2) Stressors and challenges are several, but do not have a direct influence on general
performance of farm animals

3) The behavioral processes adopted by animals in response to their environmental
changes are not vital for their survival

4) Under chronic stress through several generations, the animals’ adaptation physiology
makes them adapted to the environment

According to the passage, all the following statements are true EXCEPT ---------- A

1) Animal restraint can significantly decrease the level of stress in farm animals

2) Invasive techniques are often utilized for quantitation of stressors in farm animals

3) In order to respond to environmental stressors, farm animals alter physiological
parameters

4) Physiological mechanisms, triggered by stressors, allow animals to maintain
homeostasis

What is the main purpose of this passage?

1) To explain about farm animals’ management

2) To explain about animals’ environmental stressors

3) To explain about physiological parameters in animals

4) To explain about animals’ acclimatization responses to stressors

The passage probably continues with a sentence about ---------- 1

1) environmental conditions 2) management practices
3) physical equilibrium 4) quantitation methods
The word ‘they”’ in the passage (underlined) refers to ---------- .

1) barns 2) farm animals

3) commercial purposes 4) livestock systems
PASSAGE 2:

Precision, a focal word in livestock farming including the poultry sector, refers to the
precise control and optimization of production processes in order to improve animal
welfare, productivity, and profitability. Precision management of animals using
technology 1s one innovation in agriculture that has the potential to revolutionize
whole livestock industries. Precision Livestock Farming (PLF) of commercial poultry
has both challenges and opportunities because PLF, in principle, involves monitoring
farm animals at an individual level. An important dimension of PLF that requires an
initial consideration would be evaluating spatial distribution suitability of farm
geography so that there is minimal environmental impact and greater prospect on
economic yiability of farm construction in a specific area. Siting of a farm could be
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evaluated for slope gradient, land type, ecology conservation, cultural relics, soil
fertility demand, distance to transport route, distance to surface water, distance to
residential area, and distance to existing large-scale livestock and poultry farms. There
is an ongoing discussion on whether the PLF technology in poultry precision
management at individual bird level would be feasible or would still need considerable
research and development before its acceptance to the poultry sector. Nonetheless,
tremendous opportunity lies in the poultry sector for PLF technology, because if PLF
technology can be fully adopted, thousands of birds in the flock can be saved from
early detection of one sick bird that needs to be culled from the flock before the
situation transforms to endemic. The strength of PLF technology lies in its ability of
distinguishing, in early stage, an abnormal behavior caused by disease or injury, and
thus, applying corrective action to the affected flock that sick animal or bird
represents. The poultry farming is faced with many challenges as more concerns are
raised in animal welfare, antibiotic-free (ABF) production, and environmental impacts
of producing the food animals. Poultry producers and growers are optimizing their
profit margin handling larger flocks with limited labor access and availability, since,
contrary to the common belief, the data outputs of PLF can aid in enhanced monitoring
of flock at the individual level with minimal labor involved.

According to the passage, distance to all the followings is important in siting of a farm
EXCEPT ---------- .

1) residential area 2) surface water

3) small-scale farms 4) transport route

According to the passage, all the followings are among the concerns that cause
challenges in poultry farming EXCEPT ---------- .

1) animal welfare

2) antibiotic-free production

3) optimizing the profit margin

4) environmental impacts of producing the food animals

What is the main purpose of this passage?

1) To explain about management of animals using technology

2) To explain about the general aspects of precision management

3) To explain about Precision Livestock Farming (PLF) of the poultry sector

4) To explain about livestock farming in general and poultry farming in particular

The word ‘viability’ in the passage (underlined) is closest in meaning to ---------- ;
1) surcease 2) feasibility 3) dubiousness 4) cessation
The word ‘its’ in the passage (underlined) refers to ---------- .

1) ongoing discussion 2) PLF technology

3) individual bird level 4) poultry precision management
PASSAGE 3:

Poultry diets contain appropriate concentrations of limiting amino acids in order to
optimize the economic traits of poultry, thereby allowing producers to increase their
profits. Commercial cereal gains are the major energy sources in poultry diets.
However, cereal gains contain low concentrations of tryptophan (Trp), which is
considered the third most important limiting amino acid in poultry diets. Moreover, the
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feed intake, amino acid transporters, and the absorption and retention of amino acids
are reduced in stressed poultry. Therefore, adding limiting amino acids such as Trp to
poultry diets may enhance productivity. Trp is recognized as an essential amino acid
due to its role in protein biosynthesis in a similar manner to other amino acids. Also,
key molecules such as serotonin, melatonin, kynurenic acid, and quinolinic acid are
generated by Trp metabolism. In addition, dietary Trp supplementation can enhance
immune system activation, antioxidant status, productive performance, and meat
quality. Tryptophan can modulate behavioral aspects of laying hens, specifically by
reduction of feather pecking which can develop into injuries and death. In poultry, an
adequate level of Trp is required to maintain normal development of the lymphoid
organs and ovarian follicles, as well as to support the dominant beneficial bacteria.
Decreases in egg production, egg weight, egg mass, fertility, and the hatchability
percentage have been recorded in laying hens and broiler breeder hens fed Trp-
deficient diets. Moreover, depressed growth and impairments in the feed conversion
ratio have been reported in meat-type birds fed Trp-deficient diets.

According to the passage, all the following statements are true EXCEPT ---------- 2

1) Adding limiting amino acids to poultry diets may increase productivity

2) Tryptophan plays a role in protein biosynthesis like other amino acids

3) Tryptophan is the third most important limiting amino acid in poultry diets

4) Tryptophan supplementation decreases meat quality and productive performance

According to the passage, all the followings are among the molecules that are generated
by Trp metabolism EXCEPT ---------- j

1) serotonin and salicylic acid 2) serotonin and melatonin

3) melatonin and kynurenic acid 4) kynurenic acid and quinolinic acid
What is the author’s attitude towards Tryptophan (Trp)?

1) Admiration 2) Disregard 3) Indifference 4) Suspicion
The word ‘modulate’ in the passage (underlined) is closest in meaning to ---------- :
1) accumulate 2) assimilate 3) regulate 4) reticulate
The word ‘which’ in the passage (underlined) refers to ---------- g

1) behavioral aspects 2) feather pecking

3) tryptophan 4) reduction
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